

## San Antonio Water System

Solicitation Vendor Price List

Run Date 09/06/2022

Prepared By: Florinda Gonzales

Solicitation No : CO-00568

Job # : 21-4405

Contract No : CO-00568-01

SAN ANTONIO WATER SYSTEM

PO Box :2994

San Antonio,Texas, 78298-2449

TABULATION OF BIDS

Proposal : Echtle Offsite Sewer Extension

Time And Date : September 6, 2022 @ 2:00pm

Date - Link

						CO-00568 - 1_D GUERRA CONSTRUCTION LLC		CO-00568 - 2_QRO MEX CONSTRUCTIONS INC			CO-00568 - 3_M5 UTILITIES LLC			
Line No	Item No	Quote Category	SOV Item	Item Description	Unit	Unit Price	Quantity	Total Amount	Unit Price	Quantity	Total Amount	Unit Price	Quantity	Total Amount
	1 848	General Sanitary Sewer Bid Items		8" SDR 26 PVC Sewer Pipe With Cap	LF	\$124.50	35	\$4,357.50	\$165.00	35	\$5,775.00	\$148.29	35	\$5,190.15
	2 848	General Sanitary Sewer Bid Items		12" SDR 26 PVC Sewer Pipe With Cap	LF	\$230.00	5	\$1,150.00	\$4,500.00	5	\$22,500.00	\$722.60	5	\$3,613.00
	3 857	General Sanitary Sewer Bid Items		30" FRP (SN 72) Sewer Pipe (6'-10')	LF	\$315.00	206	\$64,890.00	\$325.00	206	\$66,950.00	\$280.24	206	\$57,729.44
	4 857	General Sanitary Sewer Bid Items		30" FRP (SN 72) Sewer Pipe (10'-15')	LF	\$315.00	307	\$96,705.00	\$335.00	307	\$102,845.00	\$287.72	307	\$88,330.04
	5 857	General Sanitary Sewer Bid Items		30" FRP (SN 72) Sewer Pipe (15'-20')	LF	\$320.00	7,169	\$2,294,080.00	\$335.00	7,169	\$2,401,615.00	\$313.87	7,169	\$2,250,134.03
	6 857	57 General Sanitary Sewer Bid Items 30" FRP (SN 72) Sewer Pipe (20'-25')		30" FRP (SN 72) Sewer Pipe (20'-25')	LF	\$320.00	5,897	\$1,887,040.00	\$335.00	5,897	\$1,975,495.00	\$404.88	5,897	\$2,387,577.36
	7 857	General Sanitary Sewer Bid Items		30" FRP (SN 72) Sewer Pipe (25'-30')	LF	\$335.00	\$653.00	\$218,755.00	\$440.00	653	\$287,320.00	\$404.87	653	\$264,380.11
	8 857	General Sanitary Sewer Bid Items 30" FRP (SN 72) Sewer Pipe (30'-35')		30" FRP (SN 72) Sewer Pipe (30'-35')	LF	\$390.00	645	\$251,550.00	\$540.00	645	\$348,300.00	\$404.88	645	\$261,147.60
	9 857	General Sanitary Sewer Bid Items 36" FRP (SN 72)		36" FRP (SN 72) Sewer Pipe (35'-40')	LF	\$815.00	50	\$40,750.00	\$700.00	50	\$35,000.00	\$456.75	50	\$22,837.50
1	0 856	General Sanitary Sewer Bid Items		30" FRP Carrier Pipe (SN72) for Pipe Jacking	LF	\$450.00	613	\$275,850.00	\$489.00	613	\$299,757.00	\$237.10	613	\$145,342.30
1	1 856	General Sanitary Sewer Bid Items		48" Steel Casing	LF	\$370.00	613	\$226,810.00	\$590.00	613	\$361,670.00	\$657.81	613	\$403,237.53
1	2 856	General Sanitary Sewer Bid Items		Jacking, Boring (48")	LF	\$800.00	613	\$490,400.00	\$575.00	613	\$352,475.00	\$1,145.80	613	\$702,375.40
1	3 858	General Sanitary Sewer Bid Items		Concrete Encasement	CY	\$330.00	102	\$33,660.00	\$250.00	102	\$25,500.00	\$710.59	102	\$72,480.18
1	4 853	General Sanitary Sewer Bid Items 5' Tee-Base Fiberglass M		5' Tee-Base Fiberglass Manhole, Miter	EA	\$47,000.00	45	\$2,115,000.00	\$38,000.00	45	\$1,710,000.00	\$47,263.17	45	\$2,126,842.65
1	5 853	General Sanitary Sewer Bid Items 5' Tee-Base Fiberglass Manhole		5' Tee-Base Fiberglass Manhole	EA	\$43,000.00	2	\$86,000.00	\$47,000.00	2	\$94,000.00	\$49,931.21	2	\$99,862.42
1	6 850	General Sanitary Sewer Bid Items	eral Sanitary Sewer Bid Items 5' Tee-Base Fiberglass Manhole, Drop		EA	\$48,000.00	2	\$96,000.00	\$49,000.00	2	\$98,000.00	\$59,529.27	2	\$119,058.54
1	7 CoSA 507	General Sanitary Sewer Bid Items Temporary Construction Fence (5-Strand Barbed Wire)		Temporary Construction Fence (5-Strand Barbed Wire)	LF	\$10.00	17,935	\$179,350.00	\$8.00	17,935	\$143,480.00	\$5.86	17,935	\$105,099.10
1	8 845	General Sanitary Sewer Bid Items Remove Existing Property Fencing		Remove Existing Property Fencing	LF	\$10.00	395	\$3,950.00	\$9.00	395	\$3,555.00	\$17.59	395	\$6,948.05
1	9 845	General Sanitary Sewer Bid Items	Items Install Property Fencing		LF	\$30.00	315	\$9,450.00	\$9.00	315	\$2,835.00	\$70.35	315	\$22,160.25
2	0 845	General Sanitary Sewer Bid Items Fence Gate 16' Type 1		Fence Gate 16' Type 1	EA	\$2,500.00	12	\$30,000.00	\$4,500.00	12	\$54,000.00	\$879.42	12	\$10,553.04
2	1 503	General Sanitary Sewer Bid Items		Replace Driveway with Flex Base and 1-1/2" Type D HMAC (6" Comp)	SY	\$65.00	388	\$25,220.00	\$39.00	388	\$15,132.00	\$63.46	388	\$24,622.48
2	2 CoSA 554	General Sanitary Sewer Bid Items Erosion Control Matting		Erosion Control Matting	SY	\$12.00	243	\$2,916.00	\$8.00	243	\$1,944.00	\$11.73	243	\$2,850.39
2	3 550	General Sanitary Sewer Bid Items Trench Excavation Safety Protection		Trench Excavation Safety Protection	LF	\$1.00	14,967	\$14,967.00	\$8.00	14,967	\$119,736.00	\$3.52	14,967	\$52,683.84
2	4 866	General Sanitary Sewer Bid Items Sewer Main TV Inspection		Sewer Main TV Inspection	LF	\$3.00	15,580	\$46,740.00	\$7.00	15,580	\$109,060.00	\$2.71	15,580	\$42,221.80
2	5 103	General Sanitary Sewer Bid Items Revegetation		Revegetation	SY	\$1.00	53,650	\$53,650.00	\$1.00	53,650	\$53,650.00	\$2.35	53,650	\$126,077.50
2	6 SC5	General Sanitary Sewer Bid Items Coastal Grass (Sprig) Revegetation		Coastal Grass (Sprig) Revegetation	SY	\$1.00	69,970	\$69,970.00	\$0.75	69,970	\$52,477.50	\$2.35	69,970	\$164,429.50
2	7 SC5	General Sanitary Sewer Bid Items	Fence Gate (10' Tall) Allowance		ALW	\$10,000.00	1	\$10,000.00	\$10,000.00	1	\$10,000.00	\$10,000.00	1	\$10,000.00
2	8 TxDOT 502	General Sanitary Sewer Bid Items	y Sewer Bid Items Signs & Traffic Handling		LS	\$3,000.00	1	\$3,000.00	\$65,000.00	1	\$65,000.00	\$17,588.42	1	\$17,588.42
2	9 845	General Sanitary Sewer Bid Items		Tree Fencing and Protection	LS	\$3,800.00	1	\$3,800.00	\$65,000.00	1	\$65,000.00	\$17,588.42	1	\$17,588.42
3	0 540	General Sanitary Sewer Bid Items		TPDES Storm Water Pollution Prevention Plan	LS	\$75,000.00	1	\$75,000.00	\$40,000.00	1	\$40,000.00	\$68,155.14	1	\$68,155.14
3	1 100	General Sanitary Sewer Bid Items		Mobilization	LS	\$600,000.00	1	\$600,000.00	\$500,000.00	1	\$500,000.00	\$243,500.03	1	\$243,500.03
3	2 101	General Sanitary Sewer Bid Items		Preparation of Right-of-Way	LS	\$300,000.00	1	\$300,000.00	\$210,000.00	1	\$210,000.00	\$404,533.72	1	\$404,533.72
3	3 102	General Sanitary Sewer Bid Items		Intermediate Demobilization and Remobilization	LS	\$19,000.00	1	\$19,000.00	\$35,000.00	1	\$35,000.00	\$15,868.28	1	\$15,868.28
					Total			\$9,630,010.50			\$9,668,071.50			\$10,345,018.21



## San Antonio Water System Solicitation Vendor Price List

Run Date 09/06/2022

Calendar Days To Complete : 365 \$9,630,010.50 \$9,668,071.50 \$10,345,018.21

CO-0	CO-00568 - 4_MILLER BROS			CO-00568 - 5_PESADO CONSTRUCTION CO INC			CO-00568 - 6_McKee Utility Contractors, Inc.			CO-00568 - 7_S J LOUIS CONS OF TX LTD LLP			CO-00568 - 8_Resicom, Inc.		
Unit Price	Quantity	Total Amount	Unit Price	Quantity	Total Amount	Unit Price	Quantity	Total Amount	Unit Price	Quantity	Total Amount	Unit Price	Quantity	Total Amount	
\$208.00	35	\$7,280.00	\$107.50	35	\$3,762.50	\$50.00	35	\$1,750.00	\$65.00	35	\$2,275.00	\$142.00	35	\$4,970.00	
\$315.00	5	\$1,575.00	\$163.00	5	\$815.00	\$150.00	5	\$750.00	\$500.00	5	\$2,500.00	\$420.00	5	\$2,100.00	
\$367.00	206	\$75,602.00	\$309.00	206	\$63,654.00	\$350.00	206	\$72,100.00	\$514.39	206	\$105,964.34	\$554.00	206	\$114,124.00	
\$367.00	307	\$112,669.00	\$297.50	307	\$91,332.50	\$380.00	307	\$116,660.00	\$514.39	307	\$157,917.73	\$559.00	307	\$171,613.00	
\$367.00	7,169	\$2,631,023.00	\$316.30	7,169	\$2,267,554.70	\$400.00	7,169	\$2,867,600.00	\$514.39	7,169	\$3,687,661.91	\$595.00	7,169	\$4,265,555.00	
\$367.00	5,897	\$2,164,199.00	\$376.00	5,897	\$2,217,272.00	\$430.00	5,897	\$2,535,710.00	\$514.39	5,897	\$3,033,357.83	\$610.00	5,897	\$3,597,170.00	
\$367.00	653	\$239,651.00	\$420.00	653	\$274,260.00	\$450.00	653	\$293,850.00	\$514.39	653	\$335,896.67	\$615.00	653	\$401,595.00	
\$367.00	645	\$236,715.00	\$484.40	645	\$312,438.00	\$500.00	645	\$322,500.00	\$514.39	645	\$331,781.55	\$620.00	645	\$399,900.00	
\$478.00	50	\$23,900.00	\$729.50	50	\$36,475.00	\$600.00	50	\$30,000.00	\$584.04	50	\$29,202.00	\$630.00	50	\$31,500.00	
\$289.98	613	\$177,757.74	\$279.50	613	\$171,333.50	\$350.00	613	\$214,550.00	\$479.00	613	\$293,627.00	\$275.00	613	\$168,575.00	
\$371.00	613	\$227,423.00	\$395.50	613	\$242,441.50	\$400.00	613	\$245,200.00	\$350.00	613	\$214,550.00	\$436.00	613	\$267,268.00	
\$836.00	613	\$512,468.00	\$744.30	613	\$456,255.90	\$1,500.00	613	\$919,500.00	\$885.00	613	\$542,505.00	\$1,400.00	613	\$858,200.00	
\$200.00	102	\$20,400.00	\$458.00	102	\$46,716.00	\$300.00	102	\$30,600.00	\$165.00	102	\$16,830.00	\$250.00	102	\$25,500.00	
\$46,284.00	45	\$2,082,780.00	\$50,406.00	45	\$2,268,270.00	\$35,000.00	45	\$1,575,000.00	\$26,916.00	45	\$1,211,220.00	\$70,000.00	45	\$3,150,000.00	
\$47,020.00	2	\$94,040.00	\$58,520.00	2	\$117,040.00	\$40,000.00	2	\$80,000.00	\$24,756.00	2	\$49,512.00	\$75,000.00	2	\$150,000.00	
\$68,295.00	2	\$136,590.00	\$127,552.00	2	\$255,104.00	\$60,000.00	2	\$120,000.00	\$35,416.00	2	\$70,832.00	\$115,000.00	2	\$230,000.00	
\$5.60	17,935	\$100,436.00	\$4.10	17,935	\$73,533.50	\$5.00	17,935	\$89,675.00	\$10.00	17,935	\$179,350.00	\$18.00	17,935	\$322,830.00	
\$4.25	395	\$1,678.75	\$4.40	395	\$1,738.00	\$5.00	395	\$1,975.00	\$10.00	395	\$3,950.00	\$5.00	395	\$1,975.00	
\$58.00	315	\$18,270.00	\$20.00	315	\$6,300.00	\$10.00	315	\$3,150.00	\$15.00	315	\$4,725.00	\$45.00	315	\$14,175.00	
\$1,875.00	12	\$22,500.00	\$2,548.00	12	\$30,576.00	\$3,500.00	12	\$42,000.00	\$1,000.00	12	\$12,000.00	\$3,300.00	12	\$39,600.00	
\$45.00	388	\$17,460.00	\$85.00	388	\$32,980.00	\$100.00	388	\$38,800.00	\$72.00	388	\$27,936.00	\$150.00	388	\$58,200.00	
\$12.00	243	\$2,916.00	\$2.00	243	\$486.00	\$15.00	243	\$3,645.00	\$15.00	243	\$3,645.00	\$65.00	243	\$15,795.00	
\$2.00	14,967	\$29,934.00	\$6.20	14,967	\$92,795.40	\$1.00	14,967	\$14,967.00	\$0.01	14,967	\$149.67	\$10.00	14,967	\$149,670.00	
\$1.25	15,580	\$19,475.00	\$12.70	15,580	\$197,866.00	\$3.00	15,580	\$46,740.00	\$2.25	15,580	\$35,055.00	\$3.15	15,580	\$49,077.00	
\$0.75	53,650	\$40,237.50	\$3.30	53,650	\$177,045.00	\$1.00	53,650	\$53,650.00	\$1.00	53,650	\$53,650.00	\$2.65	53,650	\$142,172.50	
\$1.25	69,970	\$87,462.50	\$2.70	69,970	\$188,919.00	\$0.20	69,970	\$13,994.00	\$1.25	69,970	\$87,462.50	\$3.00	69,970	\$209,910.00	
\$10,000.00	1	\$10,000.00	\$10,000.00	1	\$10,000.00	\$10,000.00	1	\$10,000.00	\$10,000.00	1	\$10,000.00	\$10,000.00	1	\$10,000.00	
\$5,000.00	1	\$5,000.00	\$31,323.00	1	\$31,323.00	\$15,000.00	1	\$15,000.00	\$7,500.00	1	\$7,500.00	\$75,000.00	1	\$75,000.00	
\$16,250.00	1	\$16,250.00	\$15,285.00	1	\$15,285.00	\$10,000.00	1	\$10,000.00	\$13,000.00	1	\$13,000.00	\$25,000.00	1	\$25,000.00	
\$133,000.00	1	\$133,000.00	\$88,696.00	1	\$88,696.00	\$25,000.00	1	\$25,000.00	\$136,100.00	1	\$136,100.00	\$30,000.00	1	\$30,000.00	
\$780,000.00	1	\$780,000.00	\$528,560.00	1	\$528,560.00	\$930,634.00	1	\$930,634.00	\$941,075.52	1	\$941,075.52	\$600,000.00	1	\$600,000.00	
\$350,000.00	1	\$350,000.00	\$184,212.00	1	\$184,212.00	\$400,000.00	1	\$400,000.00	\$378,869.28	1	\$378,869.28	\$450,000.00	1	\$450,000.00	
\$20,000.00	1	\$20,000.00	\$11,574.00	1	\$11,574.00	\$50,000.00	1	\$50,000.00	\$20,000.00	1	\$20,000.00	\$25,000.00	1	\$25,000.00	
		\$10,398,692.49			\$10,496,613.50			\$11,175,000.00			\$12,000,101.00			\$16,056,474.50	